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oo 3 10 80 | 11 10(-02) 10 98(-0.) 11 01(-04)
3 10 75 | 11 32(-38) 10 83(-0.1) 10 82(-04)
200m 3 2 30 | 22 77(:09)
A | 3000m 3 8 36 20| 8 41 47 8 34 55 PB
110mJH 3 15 24 | 15 31(-09)
3 1mo1 1mgs
3 12ma4 11m87 ®
100m 3 11 16 | 11 50(+05) 11 57(-07)
3 4 02 70 4.04.10 3 59 20PBNGJ
1500m 2 4 09 34] 42083
B 3 4 06 57| 40870
110mH 3 15 14 | 16 06(-14)
3 6m32 5m5(+0.1)
3 13m50 13m33
100m 2 1173 | 11 74(-04) 11 66(-11) PB 11 75(-18)
1 4 22 20| 4 25 84
e | 1s00m 2 4 21 00| 4 15 56 PB 4 14 09 PB
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100m 3 12 52 | 13 07(-15)
200m 3 25 31 | 25 87(-10) 25 85(-0.1)
1 9 28 79| 9 32 00 9 24 91 PB
3000m 3 9 48 66| 9 52 23 9 48 31 PB
A 3 9 50 93| 9 54 34 9 49 07 PB
100mYH 3 15 43 | 16 01(+0.0)
3 1m75 1m67
3 14m14 10m63
100m 2 12 65 | 12 64(:26) | 12 77(-06) |
1500m 2 4 34 3 DNS
5 [ oo 2 14 64 | 14 79-08) | 14 84(-12) |
3 557 5m23(-0.1)
3 12m51 12mo01
2 12ma5 12mo7
100m 2 12 89 | 13 10(-26)
c | soom 1 2 19 45| 2 19 29 PB 2 20 79
2 5mo0 4m68(-0.2) ®
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3 33ms8 42m68 PB NGJ
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